<?xml version="1.0"?>
<ROWSET>
 <clube>
  <COD_CLUBE>1</COD_CLUBE>

<NOME>Internacional</NOME>
  <LISTA_MEMBROS>
   <TP_MEMBRO>
    <ID>1</ID>

<NOME>Vera Fischer</NOME>
    <MENSALIDADE>100</MENSALIDADE>
   </TP_MEMBRO>

<TP_MEMBRO>
    <ID>2</ID>
    <NOME>Laura Pausina</NOME>

<MENSALIDADE>150</MENSALIDADE>
   </TP_MEMBRO>
   <TP_MEMBRO>
    <ID>3</ID>

<NOME>Sophia Loren</NOME>
    <MENSALIDADE>200</MENSALIDADE>
   </TP_MEMBRO>

</LISTA_MEMBROS>
 </clube>
 <clube>
  <COD_CLUBE>2</COD_CLUBE>

<NOME>Portugues</NOME>
  <LISTA_MEMBROS>
   <TP_MEMBRO>
    <ID>10</ID>

<NOME>Tony Ramos</NOME>
    <MENSALIDADE>180</MENSALIDADE>
   </TP_MEMBRO>

<TP_MEMBRO>
    <ID>20</ID>
    <NOME>Reynaldo</NOME>

<MENSALIDADE>340</MENSALIDADE>
   </TP_MEMBRO>
  </LISTA_MEMBROS>
 </clube>

<clube>
  <COD_CLUBE>3</COD_CLUBE>
  <NOME>Caxanga</NOME>
  <LISTA_MEMBROS>

<TP_MEMBRO>
    <ID>100</ID>
    <NOME>Catherine</NOME>

<MENSALIDADE>500</MENSALIDADE>
   </TP_MEMBRO>
   <TP_MEMBRO>
    <ID>200</ID>

<NOME>Alain</NOME>
    <MENSALIDADE>200</MENSALIDADE>
   </TP_MEMBRO>

<TP_MEMBRO>
    <ID>300</ID>
    <NOME>Jeane</NOME>

<MENSALIDADE>100</MENSALIDADE>
   </TP_MEMBRO>
  </LISTA_MEMBROS>

</clube>
</ROWSET>


5 – 
select lista.nome from tb_clube c, TABLE(c.lista_membros) lista where lista.mensalidade > 100;
